
Multiply and Divide by 10 (A)Find each product or quotient.
3,72 : 10 = 8,1664 × 10 =
9,48 × 10 = 4,4636 × 10 =
7,154 × 10 = 1,41 × 10 =
2,54 : 10 = 5,9 : 10 =
8,702 : 10 = 8,37 × 10 =
0,513 : 10 = 0,0981 : 10 =
8,8435 : 10 = 9,31 × 10 =
7,386 × 10 = 0,0384 : 10 =
8 : 10 = 8,8621 × 10 =
9,2465 : 10 = 7,35 : 10 =
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Multiply and Divide by 10 (A) AnswersFind each product or quotient.
3,72 : 10 = 0,372 8,1664 × 10 = 81,664
9,48 × 10 = 94,8 4,4636 × 10 = 44,636
7,154 × 10 = 71,54 1,41 × 10 = 14,1
2,54 : 10 = 0,254 5,9 : 10 = 0,59
8,702 : 10 = 0,8702 8,37 × 10 = 83,7
0,513 : 10 = 0,0513 0,0981 : 10 = 0,00981
8,8435 : 10 = 0,88435 9,31 × 10 = 93,1
7,386 × 10 = 73,86 0,0384 : 10 = 0,00384
8 : 10 = 0,8 8,8621 × 10 = 88,621
9,2465 : 10 = 0,92465 7,35 : 10 = 0,735
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